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309 EAS/C (2)

1.  isamarket where economic agents can freely exchange their endowments with each other.
(1) Market economy
(2) Centrally planned economy
(3) Aggregate demand based economy
(4) Aggregate supply based economy

2. Which of the following are correct statements ?

(A) Marginal Utility is the change in Total Utility due to consumption of one additional unit of
commodity.

(B) Two Indifference Curves intersect each other.

(C) Marginal Utility becomes Zero at a level when Total Utility remains constant.

(D) Diminishing Marginal Rate of Substitution does not affect Indifference Curve.

(E) Indifference Curve slopes downwards from left to right.

Choose the correct answer from the options given below :
(1) (A), (B)and (E) only
(2) (A), (C)and (E) only
(3) (A), (D) and (E) only
(4) (B), (D) and (E) only

3. Match List-I with List-II :

List-I List-I1
(Characteristic) (Implication)
(A) Equilibrium )] Plans of all the consumers and firms in the market
match
(B) Excess supply (D Demand decreases with an increase in income
(C) Inferior good (D) Supply is greater than market demand
(D) Price ceiling (IV) " Imposition of upper limit by government

Choose the correct answer from the options given below :
(1) (A)- @, ®B)- 1D, (C) - A1), (D) - (IV)
2) (A)-@,®B)- ), (C) - D), (D) - (IV)
(3) (A)-@, ®B)- 1D, (C) - AV), (D) - (1)
4) (A)- (), (B) - (IV), (C) - (), (D) - (I)

SPACE FOR ROUGH WORK



309 EAS/C (3)

1.
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(A) AT BATTNOT (27 ANAT 01 HokF JFHFI IR FAS (XRT T5
Ul [0 RIC SR EEIORT

(B) WMIET [NIUF (Y12 BRI PAIeTd (7 (S

(€) S BATAINOI GBI BI© 5 (R HNF (o[ TH SATol B =

(D) PNV ABF AfoFg A NICF (IUR[ SO (FIAT AOF (NHAAR|
() NI (U ASFEAIT N (AP 061 Oelte] Bl 13|

ST ATl RFTTRI {1 AOF GSIC0! AR~ FIBe

(1) (PL (A), (B) TP (E) (2) (RLT (A), (C) TP (E)
(3) (FLe (A), (D) AT (E) (4) (R4<T (B), (D) TP (E)
OIfeTPI- 1B OIfeTpI-11] (TC® e |
SIfAHI-I SIfSI-1I
(taf*rEy) (e1F)
(A)  OIIATN O JIGNIRQ AR AT WFE AT ARIHFNR
BRI L KR
(B) WOl (NN | (1) S I AT A0S BIFRAT JI5T AT
© NPT u () (I IGIRS BIRAOF (@R
(D) YA CHANW | (IV) HIPIIS Q1T O ST I T

ST ATl RFFTYRI {1 SOF GBS0 AR~ FIBe
(1) (A)- @), ®B)- 1D, (C) - (1), (D) - AIV)
(2) (A)-(D,®B)-I), (C) - D), (D) - (IV)
(3) (A)-(D,B) -, (C) - AV), (D) - (IIT)
4) (A) -1, (B) - (IV), (C) - (D, (D) - (I)
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4.

When Elasticity of Demand Curve is 1 at every point on the Demand Curve, this curve is known as :

(1) Perfectly inelastic demand curve
(2) Perfectly elastic demand curve
(3) Rectangular Hyperbola

(4) Greater than unitary demand curve

According to the Theory of Consumer Behaviour, Inequality p X T pyx, =M is called the Consumer's

(1) Budget ) Budget Set
(3) Budget Constraint 4 Budget Behaviour

Choose the correct statements from the following :

(A) Adam Smith is termed as Father of Modern Economics.

(B) J.M. Keynes gave the Theory of Income, Output and Employment.
(C) Four Sector Model=C +1+ G + (X — M)

(D) Store of value is primary function of money.

Choose the correct answer from the options given below :

(1) (A), (B)and (D) only 2) (A), (B) and (C) only
(3) (A), (B), (C)and (D) @  (B),(C)and (D) only

Rearrange the given statements in proper chronological sequence in an ascending order (earliest to latest) :
(A) General theory of Employment, Interest and Money by Keynes.

(B) Mahalanobis was made a fellow of Britain's Royal Society.

(C) An Inquiry into the Nature and Cause of the Wealth of Nations by Adam Smith.

(D) The Economic Consequences of the Peace by Keynes.

Choose the correct answer from the options given below :

() (C), (D), (A), (B) @ (A, B), (), (D)
3) (A, (), (B), (D) @ (D), (A),(©),B)
If there is no government and no foreign trade, then :

(1) G=T=M=X>1 2) G=T=M=X=1
3) G=T=M=X=0 4 G=T=M=X<1

SPACE FOR ROUGH WORK
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4. (o BIfzMR FfoFoFer Bilznl (FUF ARSEr Yo 1 27, (of ol G2 (FUMER
CDIRIEE
(1) ST WRSFF HIfZWR [T @) S RS GIfzmr (@4

(3) WFOIPR AIAYS 4) 9F3 BIFRAT (FUTOLPH NEFH
5. SIXF WHIR ©F WP, px, +p,x, <M IR NOPTOE ATZFS e
(BT =TI
(1) TG0 ) MG AR
(3) MGG ANZO! 4) JMGHI AHIY

6. [ARMIRSRIRT 21 AOF RIFSTO1 IRH T -

(A) JOTY FRYF WYNF Lo 9 I (R =T

B) (O IV (FEACR ATF, T NMA W NG ©F AW SR |
©) DIROEIEAIIE =C+I+G+(X-M)

(D) VTR OIYIR (2R AR ANAF F|

weT® M1 RPTTIRI [0 AOF GBILG! AR FIF¢

() (RLe (A), (B) ST (D) (2) (RHeT (A), (B) AT¥ (C)
(3) (A), (B) (C) QI (D) 4) (R4 (B), (C) AT<¥ (D)

7. O PG AOF PN (SFAT R TgALeT) RI R FIF¢ -
(A) (P2NRS QI 'General theory of employment, interest and money’
(B) NRANANRRS [FL62NI 0T § 'BIR6F (FeT' RO Nyf& fan (= |
(C) 4O FIF 31T 'An Inquiry into the nature and cause of the wealth of nation’
(D) (PRARI FIEN ST WLCAGE FeTreped
ST ATl RFTTYRI 2R SOF GBS0 AR~ FIBe
(1) (©), D), (A), (B) (2) (A),(B), (C), (D)
(3) (@A), (), (B), (D) 4 (D), (A), (C), (B)
8. IMZTIPN AF (UM ATTY NICH (S -
(1) G=T=M=X>1 2) G=T=M=X=1
(3) G=T=M=X=0 4) G=T=M=X<1
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9.

10.

11.

12.

13.

The value of Nominal GDP is $ 1100 and the value of Real GDP is $ 1000. Find the value of GDP deflator.
(1) 0.9 2) 1.1
3 1 4) 0.8

Identify the correct statements :

(A) Stocks are defined over a period of time.

(B) Flows are defined over a period of time.

(C) Flows are defined at a particular point of time.

(D) Stocks are defined at a particular point of time.

(E) GVA at factor costs + Indirect Taxes — Subsidies = GV A at market prices.
Choose the correct answer from the options given below :

(1) (A), (C) and (E) only 2) (B), (C) and (D) only

(3) (B), (D) and (E) only 4 (C), (D) and (E) only

If the supply of final goods is assumed to be infinitely elastic at constant price over a short period of time,
Aggregate output is determined solely by the value of Aggregate demand. This is called

Principle.
(1) Aggregate supply 2) Aggregate demand
(3) Effective demand 4) Perfectly inelastic demand

Nominal Interest Rate =

(1) Real Interest Rate x Inflation Rate

(2) Real Interest Rate — Inflation rate

(3) Real Interest Rate / Inflation rate

(4) Real Interest Rate + Inflation rate

Value of MPS (Marginal Propensity to Save) is increased from 0.4 to 0.5. What would be the impact on
Multiplier ?

(1) The size of the multiplier would be increased.

(2) The size of the multiplier would remain same.

(3) Value of multiplier is undetermined with the given information.

(4) The size of the multiplier would be decreased.

SPACE FOR ROUGH WORK
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9. WNNIG GGHT &7 1100 Tell§ W AP© [GROHT &7 1000 Gellq | GG
N ERGHEEE R CAE ISR B RIRES

(1) 0.9 @) 1.1 3) 1 4) 0.8

10. ST RIFORR oVre T35
(A) NGOTYZF 6T fNHE STNTF A RIS F 2T
B) AIATYZFAF AT STATR I ARG F91 =T
(€) 2RATYEF J61 [T STNT® AsITS F91 =T
(D) NGoTYRF AT [T STNTO HWRIT© FT =T
(F) AWM Yefre Q1. 9. 9. + IAF I - IO = IGE Yehe 1. fo. «.

TS T REFIYZI A1 3T CQIo! IRV T8
(1) (I (A), (C) = (E) 2) (I (B), (C) T (D)
(3) (I (B), (D) ™ (E) 4) (I (C), (D) ™ (E)

1. M OIS TN (9N W AR fCosw FI Jare wHAw Ffog e I 491 =7,
(S8 ATINF SIRAR YN FRT STNYF TLAMAN JFF ©IQ NIV F91 T 20F

NS I =T =TI
(1) NP TN ) TN sIfzAr
(3) T BIfRA @) SN RSZF silzm

12. «INAE o9 X9 =
(1) PG JOF T{ x TAFHIGF 2 2) FS JoF T - TUrHIfed 24
(3) PO o TF / TATHIOF TR 4) PO JOF W + YUrFHIOF 2]
13, ANHNGIR.-F el (BIE AMBF A9 04 I &1 05 (A Ja N (AR
RBIVHFY @0 2F S oK {2
(1) VTR WHFE Iz AN
2) BVFT AP{ A(H2 AHF]
3) OfHIe AT IR QUF] W [N Hf{I ((RI{7N
(4) BIPIYPIIIN ']
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14.

15.

16.

17.

Paradox of Thrift means :

(1) If all the people of the economy increase the proportion of income they save, the total value of
investment in the economy will not increase, it will either decline or remain unchanged.

(2) If all the people of the economy increase the proportion of income they spend, the total value of
savings in the economy will not increase, it will either decline or remain unchanged.

(3) If all the people of the economy decrease the proportion of income they save, the total value of
savings in the economy will not increase, it will either decline or remain unchanged.

(4) Ifall the people of the economy increase the proportion of income they save, the total value of savings
in the economy will not increase, it will either decline or remain unchanged.

depicts what has actually happened.

(1) Ex-Ante 2) Ex-Post
(3) Constant 4 Variable

If the value of Investment Multiplier is 5 and the increased income is ¥ 800 crore in an economy, then find
the value of change in the investment in the economy.

(1) ¥ 4000 crore 2) ¥ 120 crore

(3) T 400 crore 4) ¥ 160 crore

Which of the following statements are true ?

(A) Quantitative tools control the extent of money supply by changing the CRR.
(B) There are two types of open market operations — outright and upright.

(C) A fall in the bank rate can decrease the money supply.

(D) Selling of a bond by RBI leads to reduction in quantity of reserves.

(E) The RBI can influence money supply by changing the rate at which it gives loan to the commercial
banks.

Choose the correct answer from the options given below :
(1) (A), (C) and (D) only
(2) (A), (B) and (D) only
(3) (B), (D) and (E) only
(4) (A), (D) and (E) only

SPACE FOR ROUGH WORK
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14.

15.

16.

17.

fearRer Rafet oL =4 -
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AfF|

) M WANST AT ((MF TAGAI o FA ABTT AYNS I I
(S8 WYNSS ABTT P T Iz V=T; 2 IOl IX X 'J A ARG 2
AfFS|

@ TM TAGT JTFE EMF TAGAI [ I APTR qN© I I

(o8 WYNIo® FBTF 5 T I 7=F; R IO IH R T I TARRG (=
AR
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(1) orenre 2) T 3) &P @) A ITTSHIT

I RN BIFI T 5 WF J61 WLfow IS Wrg 800 X6 TF =W, (S
WAifow RINTIIR ARTENR Yo [l S|

(1) 4000 (IO BHI 2) 120 (IO BHI

(3) 400 (G BT 4) 160 (G GBI

O] (PO IO >oI/5To58 -

(A) TNV SGATT 6. .S, ST B 4N (NN AW T B

B) 12 4999 Y3 IO AVHGY FURDPIT FrOFAN WY — OIHNP
3|

(C) (RPN R'(eT YAIF (TN I '] ATCS|
(D) RBIF BRI 4O Tp! FIL TeT© G ATV Z157 27|

(E) RBI (I IMVGIF (QIFYRF AT AN F AP Hel(w DS YAI] (T9HNO A0«
(AT AT

TeTe Ml RSFTIZI [0 AOF GeI6! AR FIF¢

(1) C(RLT (A), (C) XTI (D) (2) (P (A), (B) <P (D)

(3) (P4 (B), (D) TP (E) (4) (P4 (A), (D) AT (E)
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18. Match List-I with List-II :

List-1 List-II
(A) Bank Rate @ Securities are pledged in order to repurchase
(B) Marginal Standing Facility | (I) Minimum rate at which funds are provided for long
term
(C) Repo Rate (1D Also known as Penal Interest Rate
(D) Reverse Repo Rate (IV) " Central Bank borrows funds from commerical banks

Choose the correct answer from the options given below :
(1 @A) - @, B)- 1D, (C) - (1), (D) - AV)
(2) (A)-(D, B)- ), (C) - (@), (D) - (IV)
(3) (A)-@, (B)- ), (C) - 1IV), (D) - (1)
(4) (A)- (1), (B) - (IV), (C) - (D, (D) - (1)

19. Which of the following is not a function of Central Bank ?

(1) It controls the money supply in the economy through different rates.
(2) It acts as a banker to the government.

(3) It accepts deposits and give loans to people.

(4) Itissues the currency of the country.

20. Article 112 deals with :

(1) Consolidated Fund of India 2) Public Account
(3) Union Budget 4) Contingency Fund

21. All those elements which create liability and decrease the assets of government are known as :
(1) Capital Receipts 2) Capital Payments

(3) Revenue Receipts 4) Revenue Payments

22. Arrange the following elements in correct chronological sequence (earliest to latest) :

(A) Smithsonian Agreement (B) Bretton Woods Conference
(C) Establishment of WTO (D) Gold Standard

Choose the correct answer from the options given below :

(1) (@A), B), (C), (D) 2 (D), (B),(A),(C)

(3) D), (A), B), (C) @ (O),B), (D), (A)

SPACE FOR ROUGH WORK
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18.

19.

20.

21.

22,

(11)
OIfeBI- 1 WIfeTHI-117 0w N1
SIfeTHT-1 SIfeTI-11
(A) ([PY 2R 0  ACGSRIT FNT T FE A IHS T =
B) IS I R an IR STNER AR S (o 491 fRNew =]
©) ([NZTF () RGN 09 K IS G I
D) IS [N 2R V) (FEI ([P AAOTH (ILF A AT AT

Tt ATl RPTTRI {1 AOF GBS0 AR~ FIBS

(1) (A)- (@), (B) - (ID), (C) - (I1I), (D) - (IV) ) (A)- D), (B) - (I, (C) - (D), (D) - (IV)
(3) (A)- (D, (B)-(ID), (C) - (IV), (D) - (III) (4) (A)- ), (B) - (IV), (C) - (1), (D) - (IT)
S (P! (U (ILFI I =2

(1) 2 o7 T3 Giare wLNIfes a1 (o 959 FE|

2) 2 BIPIRS I (ILPIF RO FIN I

(3) 2O AR F(F AP GAALLVP AV 2R F(S|

@) 2 (M9 YAl AeT B

WIHRN 112-4 3 [T CATHN FIRCT -

(1) OIFe] JFfae NG (2) SRS TG

3) (TR IACSO 4) SR A

MRA@O! S F WE HIFIRI TS 15 N STHEAT SATHNS (P12 -
(1) AL 7Y 2) LR AR

3) ISR AN 4) IMGR ARENY

AR SAMNSTNR A0F FNS (TN [ FgceT) [ FI%

() R g (B) (IO &G Affe

©) Ry Afvey STz Afod
S [P IR B -

(1) (A), (B), (C), (D)
(3) (D), (A), (B), (C)

) Ff N

(2) (D), (B),(A), (C)
4 (©), (B), (D), (A)
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23.

24.

25.

26.

Under flexible exchange rate, when the price of domestic currency in terms of foreign currency increases, it
is called

(1) Depreciation of domestic currency

(2) Appreciation of domestic currency

(3) Devaluation of domestic currency

(4) Revaluation of domestic currency

Match List-I with List-II :

List-I List-II
(A) Pegged exchange rate system D Setting up of IMF and World Bank
(B) Managed floating (IT)  Fixed exchange rate system
(C) Bretton Woods Conference (IID)  Dirty floating
(D) Third element in BOP (IV)  Error and Omission Account

Choose the correct answer from the options given below :
() (A)-D, B) - (@), (C) - (1), (D) - (IV)
(2) (A)-(D, (B) -1, (C) - (@), (D) - (IV)
(3) (A)- (@, (B)- I, (C) - (IV), (D) - (1)
(4) (A)- (1), (B) - AV), (C) - (D, (D) - ()

Casualization of workforce would result in :

(1) Decrease in the vulnerablility of the workforce.
(2) Increase in the vulnerability of the workforce.
(3) Increase in the number of regular workers.

(4) Income and employment stablility.

Choose the correct chronological sequence in ascending order (earliest to latest) :
(A) Establishment of NABARD

(B) FRBMA (Fiscal Responsibility and Budget Management Act)

(C) Third Five Year Plan

(D) Nationalization of RBI

(1) (@A), B), (C), (D) 2 (A, (©),B), D)

(3) (D), (A), (B), (O) @ (D), (), (A),B)

SPACE FOR ROUGH WORK
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23. NN RNNT T[T WS, (oW R JHF CFq© T4 HR[ 1 Iz 21,2305

IRz

(1) TS YT I 20 (2) T IR ¥ 3@

(3) P YA NIYTIRN (4) T YA NI RN
24, OIfAPI-IF OIfTHI-11F (TS A

SIfAI-1 SIfFHI-11

) RIS Rfwy =8 3= O WRANIF WF Y [T

(B) fIEIfer® oI O E S ASICPREACESIRED

(C) (J0N Suy Afqer () FHR O

(D) BOPY DO AT av) o o REfS fZorer

TeTo Al [RFFITIZR AR ASF SSICGT AR FIs
(1) (A)- (D), (B) - (1), (C) - (I1I), (D) - (IV)
) (A)- (D), (B) - (1D, (C) - (1), (D) - (IV)
(3) (A)- (D), (B)- (), (C) - (IV), (D) - (II])
(4) (A)- (1), (B) - (IV), (C) - (1), (D) - (II)

25, NG NI Fe1© 2T -

(1) FANGT [ IS ) ISR I

@) IS SRS ST 3@ @) A o VY Fger
26. Of TN I TFNCOT (R[N N Vo) ARV FIP

(A) NRIGF ARG

B) IF.IR.R.a7.4. (RSN "ael W ITHE IITZNN A2A)
(C) DO NBIMNF ARIHN

(D) 1.2 I AT

(1) (A), (B), (O), (D) (2) (A),(C),(B), (D)

(3) (D), (A), (B), (C) @) (D), (©), (A), (B)
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27.

28.

29.

30.

31.

implies that resource extraction is not above the rate of regeneration of resources and the

wastes generated are within the assimilating capacity of the environment.
(1) Absorptive capacity ) Carrying capacity
(3) Subsistence capacity 4 Exhaustive capacity

Government of India enacted the Right to Education Act in 2009 to make free education a Fundamental

Right of all children in the age group of years.
(1) 4-10 2) 6—12
(3) 6-14 @) 815

Following are the sources of electricity generation in India. Arrange them in correct sequence on the basis
of total power generation capacity (higher to lower) :

(A) Nuclear

(B) Thermal

(C) New and renewable energy

(D) Hydro

Choose the correct answer from the options given below :

(1 (A, B), (C), (D) @2 (A, (©),(B), (D)
(3) B),(0), (D), (A) @ (B)(D),(O),(A)
Arrange the following items in correct sequence :

(A) Competition Act

(B) FEMA

(C) FERA

(D) MRTP

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) 2 (A)(©),®B), (D)
(3) D), (C), (B), (A) @ (O, (B). (D), (A)
The Great Leap Forward (GLF) campaign was initiated in

(1) 1948 () 1938

(3) 1958 4) 1942
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27. JOURCT ST WRIY ST SIIIR] TP WGP 7R W JGoro 1B
AR ARITFNO® WG ACH |
(1) T For 2) I=NFAO
(3) G W= ol @) Y e

28. OIS BIFMI 2009 HNG PP WEHR WA AN S [N e
IR I TR Fwg QN SEHF RO 510 Ofeiime |

1) 4-10 2) 6-12
3) 6-14 4) 8-15

29. OO G BEATMNI TSIYR ©efo Orad FI RAIYS [ig TAMN FVOR
fofe® I3RS Fx® (THON {1 fNFeN) IS

() ofFTR

(B) I

(€) QN SF NAFITCIT =&

(D) TRY'

e T fREFITAZI NI 3T QIO IR FIFS

(1) (A), (B), (O), (D) (2) (A), (©), (B), (D)

(3) (B),(O), (D), (A) 4) (B), (D), (C), (A)
30. O AV AOF TS [T FI

(A) AFSTHINOI FMRA (Competition Act)  (B) CFNT (FEMA)

(C) (T (FERA) (D) 9%.=1.f5.f4. (MrTP)

TeTe Ml RSFTIZI [0 AOF GeI6! AR FIF¢

(1) (A), (B), (C), (D) (2) (A), (O, (B), (D)

(3) (D), (C), (B), (A) (4) (©), (B), (D), (A)

31, (G 7% a6 (5. 91, 0. ) |wfoTw © WS H (XA
(1) 1948 () 1938
(3) 1958 4) 1942
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32.

33.

34.

3s.

36.

Match List-I with List-I1I :

List-I List-II
(A) Great Leap Forward @D Protecting the future generation
(B) Mao Zedong (ID  Aimed at industralising the country on a massive scale
(C) Brundtland Commission (IIT)  Introduced the Great Proletarian Cultural Revolution
D) Our Common Future (IV) Seminal Report that explained sustainable
development as meeting the basic needs of all for a
better life

Choose the correct answer from the options given below :
(1) @A) - @, ®B)-dD), (C) - 1), (D) - AV)
(2) (A)- (D, (B) - 1), (C) - @), (D) - AV)
(3) A)- @, ®B)-1D, (C)-dAV), (D) - (D)
4) (A)- (), (B) - (IV), (C) - (D), (D) - (1I)

Second phase of Green Revolution is termed from :

(1) mid 1960s to mid 1970s
(2) mid 1970s to mid 1980s
(3) mid 1950s to mid 1960s
(4) mid 1980s to mid 1990s

During 1980s, the growth rate in Pakistan improved on account of which of the following reasons ?
(1) Institutionalised process of technical change

(2) A good harvest

(3) Sustainable export of manufactured goods

(4) High amount of foreign direct investment inflow

When there is unexpected rise in the sales

(1) Aggregate demand would decline.

(2) There will be unplanned accumulation of inventories.
(3) There will be unplanned decumulation of inventories.

(4) Normal profit would be lower.

During festive season, the currency deposit ratio

(1) decreases 2) increases
(3) has no impact on it 4 first decreases then increases

SPACE FOR ROUGH WORK



309 EAS/C (17)
32.  OIeIPI-IF OIARI-11F (0o N

OIfeTHI-1 OIfFHI-11
(A) (3G feToy FIA6 1) SRS AGAF JIFS T
(B) WIS (TGS ) (NP NP ARI®  SUUTNFIT IS
GRS
(C) FQTAQ RN 1) I2§ TR TFOF (T2 WS (2w
(D) NI} SLNZOEI (V) TF® GRS A AREANS GNP ATIGAITo!
RIS NIV F RECA IZTFN GRINS I T
QRS A

Tt ATl REFITYRI {1 SOF GBS0 AR FIBe

(1) (A)- @), ®B)- 1D, (C) - (1), (D) - IV) (2) (A) - D), (B) - (D), (C) - (D), (D) - AV)

(3) (A)- (D), B)- (1D, (C) - V), (D) - (IIT) “) (A) - (1D, (B) - (IV), (C) - (), (D) - (II)
33, OToW [R2RT fRolT [T 2R 2_1 (FR1 =

(1) 1960-F W¥HFF NGroI9F AT 1970-F T*HI NGOl eAlPH

) 1970-F W¥HFF NGreI9F AT 1980-F T*HI NGOl

(3) 1950-F W¥HFF NGrel9T AT 1960-F T*HI NGOl eATH

@) 1980-F WP ANGroI9F AT 1990-F W*HI NGOl AP
34, 1980-F T¥PW APV [TPHE TF MRS (POl FIETO ON© (RRe?

(1) PR ARTENR AfSHE AfFW

2) Ol *F GIAT

(3) TS AT IZF N I

4) OF6 AR For% [T [RINTI9R 2[=

35, (TfoT [Rphe Warentrs 3@ =3 cofom ? 9l
(1) ST BIfRAr 357 =9 2) 2NCOTRAYRI NATHGO 8=

(3) ENGOITIRT WARDIHO WTFA  (4) FTOIP ellg IV T

36. OIS IO, YHI GINIK AT
(1) T AR @) JMa "2
3) (AT HOR[ ANI (4) YN J =T ©OF e Ja =
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37.

38.

39.

40.

European Monetary Union was created in .
(1) 1996 2) 1994
(3) 1999 @) 2002

Identify the correct statement in the context of Circular Flow of Income in a two sector economy :
(1) Household receives factor services from firms.

(2) Household invests while firm saves.

(3) Firms produce goods and services.

(4) Household supplies factor services to Government.

Identify the correct set of statements.

(A) Ex Ante Saving represents what is actually planned to save.
(B) Ex Post Saving represents what is actually planned to save.
(C) Ex Post Saving depicts what has actually happened.

(D) Ex Ante Post Saving represents what is actually saved.
Choose the correct answer from the options given below :

(1) (A)and (D) only

(2) (A)and (C) only

(3) (B) and (D) only

(4) (C) and (D) only

Match List-I with List-II :

List-I List-I1
(Elements) (Features)
(A) Annual Financial Statement (D Create liabilities or reduce financial assets
(B) Capital Receipts (ID  Trade surplus
(C) Capital Payment (III)  Main budget document
(D) Export > Import (IV)  Create financial assets or reduce liabilities

Choose the correct answer from the options given below :
(1 @) - @, B)- 1D, (C) - (1), (D) - AV)
(2) (A)- ), (B) - (), (C) - (IV), (D) - (II)
3) (A)- D, (B)- (D), (C) - (IV), (D) - (IIT)
4 A -dID), (B) - (IV), (C) - (1), (D) - (II)
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37.

38.

39.

40.

RSN AT A< © SR 1 0= |
(1) 1996 () 1994
(3) 1999 (4) 2002

7Ol 497 NAVOS AT Hepl AR TM9© A [RIFGC! o e FIF3 -
(1) TLAYYE AFOHNTYRI AN SATHN (571 1S B

2) AFSHIN H2BY FIF TNT© L9 [N IR

(3) ANSHNTICR TN W (7T B AN I

4) TPAYYER GIFIRP GAIN -1 (TN LS|

RIFST AT 22 fovre T35

(A) OIS ST AFO® [F BT FIF ARG I (AR O AfONEY P
B) TLY FTB(T AFSCS F LT FIF ARFIN F1 (2R OF ATSEY I
©) YR AFere F TofRe o 390 F[Rg

(D) SIS FPTA AFO® [F AW F1 (2R O AfSRET FR

ST ATl RFTTARI {1 SOF GSIC0! AR~ FIBe

(1) (PLT (A) ¥ (D) (2) (PLeT (A) AT (C)
(3) (I (B) W (D) 4) (P (C) AF (D)
OIfeTPI- 1B OIfeTpI-11] (TC® eS|
SIfeTT-1 SIfAFI-11
(SATAINAYR) (CIFRTHYER)
(A) A [Gw [Jfo 0 ARl T I35 A1 TS TS I3 FIF
(B) Y4 O (n  fvers 9%
(©) A ARTNY (1) YT TGO NG
(D) IYIN > A~ V) ST =W 3T FIF I AIITZO I I

ST ATl RFFTYRI {1 SOF GBS0 AR~ FIBe
(1) (A)- @), ®B)- 1D, (C) - (1), (D) - AIV)
(2) (A)-dID, (B) - (@), (C) - AV), (D) - )
(3) (A)- @), B)- 1D, (C) - V), (D) - (IIT)
(4) (A) -1, (B) - V), (C) - (D), (D) - (D)
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Read the following passage and answer the next five questions :

In our quest to increase agricultural production during the last five decades or so, we almost totally neglected the
use of compost and completely switched over to chemical fertilizers. The result is that large tracts of productive
land have been adversely affected, water bodies including ground water system have suffered due to chemical
contamination and demand for irrigation has been going up year after year. Farmers, in large numbers all over the
country, have again started using compost made from organic wastes of different types. In certain parts of

the country, cattle are maintained only because they produce dung which is an important fertilizer and soil

conditioner.

Earthworms can convert organic matter into compost faster than the normal composting process. This process is
now being widely used. Indirectly, the civic authorities are benefitted too as they have to dispose reduced

quantity of waste.

41. How is civic authority getting benefitted due to biocomposting ?

(1) They have to dispose increased quantity of waste.
(2) They don’t have to dispose any waste.
(3) Because civic authority has no role in waste management.

(4) They have to dispose reduced quantity of waste.

42. Choose the correct statement concerned with the passage :

(1) Earthworm takes equal time to convert organic matter into compost with respect to normal
composting process.

(2) Earthworm takes more time to convert organic matter into compost with respect to normal composting
process.

(3) Earthworm takes less time to convert organic matter into compost with respect to normal composting
process.

(4) Comparison between earthworm based composting and normal composting cannot be made.

43. Water bodies including ground water system have suffered due to :
(1) Biocomposting
(2) Chemical contamination and increased demand for irrigation
(3) Organic farming

(4) Increased fertility of land
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O WLCBT ABE WIF ATGBI YA B g MuS-

F5T® ATE 71 foog® FR TLAMN IMa I FI AW KA A HN AN
IRIRE AT ST TICEAT FR ST IMANE SR A (=01 2AR]
FAFHCN B AN GINT JR& We* RIAONT AOIRO (2R, GO AN IIEBF 47
G RTINS AT TeT© oS (R(R WE G0 BIIRA I29 29 41 I
NG| TN (NS JT§ TS FIFAFA 9 (o7 AFRI (GR7EF ARGAT -
O[T AHVIRY TR TS FRZITR [FRAAN Fe*1®, NP-NAAN (FI (NS
LA FIE AMI2 THMIFT F 2 T =R IF SF9A I WF 9Ng IS
TGN |

(PR ST Ao AT FAO(F BosIoS (GIKP ARLF A6 JHel FANS[TO IR AN
G2 AT IS IO AIE T (AR AAFFOIE, NARE FHHRIE SAFS
= AT (SEENF TRGAIR AW 2157 FR A9 (2R

41. (G| SR B ATHNI TeT© NHTF FONF2 (AN ATSITS (207?
(1) (SETEA IS ARTOR WG [NFH F{7 Ao
2) (SETEF (AT YFVF NG [NFPN FII VAT |
(3) JIRY ARIGA] JIIZINAS NN ITF FOH] (FIA O NI W2
@) (SEEE WRGR AT 15 F{7 Ao

42. WFIOR IS NP S [RIFGT01 IR 3%

(1) STHRY 6~ A FAR ACATE (FHI (GR[7F MLF Ao AR TS0 FRIICA
SN SN 77|

2) STHRY 5~ A FAR ACATTE (FHI (GR7F LF Ao AR TS0 FRIICA
(JfR ST 7|

(3) SR 6~ AFAR ACATTE (FHI (GR[7F MLF Ao AR TS0 FRIICA
N ST 7|

4) (Y FOfGP BN T HE SHLEV AGN SIS WG Qeiwl B (WIS

3. GNGE AN IIIFNSF 4 TEAPTTTNR 2R TAO HoS (2073
(1) (OR AR
(2) ICTARNF IV A GAi26-< GIizar 3a
3) (P PR

@) GNI OI@ I
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44. In certain parts of the country, cattle are maintained only because they

(1) Produce milk to increase income of farmers
(2) Produce dung which is an important fertilizer and soil conditioner
(3) Work as insect repellants

(4) Are a symbol of traditional ethics and values

45. What should be the suitable title for the above passage ?

(1) Biocomposting ) Biopest Control

(3) Traditional Knowledge and Practice (4) Uses of Chemical Fertilizers

Read the following passage and answer the next five questions.

India had an independent economy before the advent of the British rule. Though agriculture was the main source
of livelihood for most people, yet, the country’s economy was characterised by various kinds of manufacturing
activities. India was particularly well known for its handicraft industries in the fields of cotton and silk textiles,
metal and precious stone works etc. These products enjoyed a worldwide market based on the reputation of the
fine quality of material used and the high standards of craftsmanship seen in all imports from India. The
economic policies pursued by the colonial government in India were concerned more with the protection and
promotion of the economic interests of their home country than with the development of the Indian economy.
Such policies brought about a fundamental change in the structure of the Indian economy — transforming the
country into a supplier of raw materials and consumer of finished industrial products from Britain. Obviously, the
colonial government never made any sincere attempt to estimate India’s national and per capita income.
Some individual attempts which were made to measure such incomes yielded conflicting and inconsistent results.
Among the notable estimators — Dadabhai Naoroji, William Digby, Findlay Shirras, V.K.R.V. Rao and R.C.
Desai — it was Rao, whose estimates during the colonial period were considered very significant. However, most
studies did find that the country’s growth of aggregate real output during the first half of the twentieth century

was less than two per cent coupled with a meagre half per cent growth in per capita output per year.

46. Before the British rule, India was well known for which manufacturing industries’ products ?

(1) Cotton and Silk or Khadi textiles
(2) Cotton and Engineering products
(3) Cotton and Silk textiles, metal and precious stones, etc

(4) Engineering goods and precious metals

SPACE FOR ROUGH WORK




309 EAS/C (23)

44. (MN] fFYUN |29, -V (FIA (OS(ANH T AW HIF N2
THNMIFY H 2T
(1) NI FIFI SAGH 7 FR
2) TR T =7 IF SFFS T WF NS A ATAGNT FAGZN
3) (NP-HO9 ATSIILF BN PN F (I
@) NTPRINS (0TSl WF YA A0IF

45. SN NLHOIE MR SANYS FRMIN fF 27 Ao

(1) TGRS 2) (OR II6 NIgT

(3) NTNRINSG I HTF SegaileTey ) IR S99 TIZR
ST WLHCOT AGF WP ATEOT AL B9 M-

f3f0% *TT WT=R i Tt 4F TN WLINS e | IS [@RFer @6 IR
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47. What kind of interests was the colonial government concerned with in the economic policy for Indian
industries ?
(1) To promote the handicraft industries of India
(2) Promote and protect small scale industries of India
(3) Protect and promote the economic interests of Indian industry along with their home country

(4) Provide protection and promotion of the economic interests of their home country

48. Choose the economists who estimated India's National Income and Per Capita Income.

(1) Dadabhai Naoroji, William Digby, Bernier, V.K.R.V. Rao and R.C. Desai

(2) Dadabhai Naoroji, William Digby, Findlay Shirras, V.K.R.V. Rao and R.C. Desai
(3) Dadabhai Naoroji, Jagdish Bhagwati, V.K.R.V. Rao and R.C. Desai

(4) Dadabhai Naoroji, Findlay Shrirras and V.K.R.V. Rao

49. What was the country’s growth of aggregate real output during the first half of the 20th century ?

(1) The country’s growth of aggregate real output was less than two percent coupled with a meagre one
percent growth in per capita output per year.

(2) The country’s growth of aggregate real output was less than two percent coupled with a meagre one
and a half percent growth in per capita output per year.

(3) The country’s growth of aggregate real output was less than two and a half percent coupled with a
meagre half percent growth in per capita output per year.

(4) The country’s growth of aggregate real output was less than two percent coupled with a meagre half
percent growth in per capita output per year.

50. According to the passage, which of the following statement was true about Indian industries’ products ?
(1) Indian products were of inferior quality and cheap in the worldwide market.

(2) Indian products were promoted by the colonial government and competed with other countries’
markets also.

(3) Indian products enjoyed a worldwide market based on quality of material used and the high standard
of craftsmanship.

(4) Indian products’ raw material for primary goods was imported from the other countries and it helped
to increase export.
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47.

48.

49.

50.
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